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INTRODUCTION TO TRIGONOMETRY

Example

1. Find the values of :a.

Watch Video Solution

sin 60∘ cos 30∘ + cos 60∘ sin 30∘

2. Find the values of :b.

Watch Video Solution

tan2 30∘ + tan2 45∘ + tan2 60∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Zx5bZs2k1fbc
https://dl.doubtnut.com/l/_47EIQcROTZTT


3. Find the values of :c.

Watch Video Solution

6 cos2 45∘ − 18 cot2 60∘ + 3sec 60∘

4. Find the values of :d.

Watch Video Solution

5 sin2 30∘ + cos2 45∘ + 4 tan2 60∘

2sin 30∘ cos 60∘ + tan 45∘

5. Find the values of :

Watch Video Solution

sin3( ) + 4 cot2( ) − sec2( )
π

4

π

4

π

3

6. Verify:a.

Watch Video Solution

sin 60∘ =
2tan 30∘

1 + tan2 30∘

https://dl.doubtnut.com/l/_JsCj88jtds4t
https://dl.doubtnut.com/l/_PURxVrKoFj1y
https://dl.doubtnut.com/l/_0UwluLMR8Oh9
https://dl.doubtnut.com/l/_xTsSKrIBJM0V
https://dl.doubtnut.com/l/_RInZlkur9wD7


7. Verify:b.

Watch Video Solution

2 cos2 45∘ = cos2 60∘ + cos2 30∘

8. Verify:c.

Watch Video Solution

tan 30∘ (sin 60∘ + sin 30∘ + cos 0∘ ) = (cos 60∘ + sin 60∘ )

9. Verify:d.

Watch Video Solution

= sec 60∘ − tan 60∘cos 30∘ − sin 30∘

cos 30∘ + sin 30∘

10. Prove that:a.

Watch Video Solution

sec 30∘ tan 60∘ + sin 45∘ cos ec45∘ + cos 30∘ + cos 30∘ cot 60∘ =
7
2

https://dl.doubtnut.com/l/_RInZlkur9wD7
https://dl.doubtnut.com/l/_E5iinajICdBM
https://dl.doubtnut.com/l/_ZkDayr7cpBBq
https://dl.doubtnut.com/l/_HdPTNVZ07kl3


Watch Video Solution

11. Prove that

Watch Video Solution

cot2 30∘ + 3 sin2 60∘ − 2 cos ec260∘ − tan2 30∘ =
4
3

3

4

10

3

12. Prove that.

Watch Video Solution

cos( )cos( ) + sin( )sin( ) = cos( )
π

3

π

6

π

3

π

6

π

6

13. If ,then the value

of x is

Watch Video Solution

2 cos ec230∘ + x sin2 60∘ − tan2 30∘ = 10
3

4

https://dl.doubtnut.com/l/_HdPTNVZ07kl3
https://dl.doubtnut.com/l/_RltRxBvK9OwT
https://dl.doubtnut.com/l/_cupFnCKBQgLa
https://dl.doubtnut.com/l/_BAM2iu0rpmX3


14. By what number should be multiplied to

get the value of ?

Watch Video Solution

sin 45∘ cos 45∘ tan 60∘

tan2 45∘ − cos2 60∘

15. If ,find the value of 

Watch Video Solution

√3 tan θ = 1(0∘ < 0 < 90∘ )

sin2 θ − cos2 θ

16. Verify the following identities by substituting the values of the

trigonometric ratios with respect to the given values of .(i)

Watch Video Solution

θ

sin2 θ + cos2 θ = 1(θ = 60∘ )

https://dl.doubtnut.com/l/_VKz2UskLQE4P
https://dl.doubtnut.com/l/_LNSfx2dTO3ZY
https://dl.doubtnut.com/l/_bgXlW8zkSlLO
https://dl.doubtnut.com/l/_un0wYGAXOfHh


17. Verify the following identities by substitutihg the values of the

trigonometric ratios wiyh respect to the given values of .(ii)

Watch Video Solution

θ

1 + tan2 θ = sec2 θ(θ = )
π

4

18. Verify the following identities by substitutihg the values of the

trigonometric ratios wiyh respect to the given values of .(iii)

Watch Video Solution

θ

1 + cot2 = cos ec2θ(θ = )
π

3

19. If ,show that

(i)sin(A+B)=sinAcosB+cosAsinB

Watch Video Solution

A = 30∘ and B = 60∘

https://dl.doubtnut.com/l/_un0wYGAXOfHh
https://dl.doubtnut.com/l/_dVFSqxOQUz3A
https://dl.doubtnut.com/l/_QSeNNu3T8jCV
https://dl.doubtnut.com/l/_W49VKbb420cu


20. If ,show that (ii)cos(A+B)=cosAcosB-

sinAsinB

Watch Video Solution

A = 30∘ and B = 60∘

21. (ii)  ,  find the value of r

Watch Video Solution

if r cos θ = 1 r sin θ = 1

22. (iii)Find value of r if  

Watch Video Solution

r tan θ = √3 r cot θ = 3√3

23. If  , find value of r

Watch Video Solution

r cos θ =
1

3
r sin θ =

1

√3

https://dl.doubtnut.com/l/_W49VKbb420cu
https://dl.doubtnut.com/l/_nKoaRm44iVHx
https://dl.doubtnut.com/l/_vQqKOwBKiQ4c
https://dl.doubtnut.com/l/_PoowoBElqcBi


24. In .If AB=12 cm.BC=5 cm.find sinA and sinC.

Watch Video Solution

△ ABC, ∠B = 90∘

25. If is acute),show that

Watch Video Solution

tan θ = √3, (' θ' =
1 − cos2 θ

2 − sin2 θ

3

5

26. Find the value of .a.

Watch Video Solution

' θ' (0∘ ≤ θ ≤ 90∘ ) 2 cos θ + sec θ = 3

27. Find the value of b.

Watch Video Solution

' θ' (0∘ ≤ θ ≤ 90∘ ) sin2 θ − sin θ = 0
1

2

https://dl.doubtnut.com/l/_RYbExZT52fCj
https://dl.doubtnut.com/l/_sm3u0QVml866
https://dl.doubtnut.com/l/_SeEuimwattTJ
https://dl.doubtnut.com/l/_CbsbVkO9lo5D
https://dl.doubtnut.com/l/_mIduTVxadPln


28. Find the value of c.

Watch Video Solution

' θ' (0∘ ≤ θ ≤ 90∘ )

cot2 θ − (1 + √3)cot θ + √3 = 0

29. Find the value of d.

Watch Video Solution

' θ' (0∘ ≤ θ ≤ 90∘ )

+ = 4
cos θ

1 − sin θ

cos θ

1 + sin θ

30. Find the value of e.

Watch Video Solution

' θ' (0∘ ≤ θ ≤ 90∘ ) 3 tan θ = cot θ

31. Find the value of f.

Watch Video Solution

' θ' (0∘ ≤ θ ≤ 90∘ ) 2 sin2 θ − 1 = 0

https://dl.doubtnut.com/l/_mIduTVxadPln
https://dl.doubtnut.com/l/_c3mHgf8Onsjp
https://dl.doubtnut.com/l/_zurz8LjHecMQ
https://dl.doubtnut.com/l/_9uaQCYKztnfH


Watch Video Solution

32. Find the value of g.

Watch Video Solution

' θ' (0∘ ≤ θ ≤ 90∘ )

cos2 θ − 3 cos θ + 2 = sin2 θ

33. b.If sin(A+B)=1 and cos(A-B)=1,then the values of A and B are:

a) 
 b) 
 c) 
 d)

A. B=30^@`

B. B=45^@`

C. B=45^@`

D. B=0^@`

Answer:

A = 45∘ B = 30∘ A = 60∘ B = 45∘ A = 45∘ B = 45∘

A = 90∘ B = 0∘

A = 45∘

A = 60∘

A = 45∘

A = 90∘

https://dl.doubtnut.com/l/_9uaQCYKztnfH
https://dl.doubtnut.com/l/_jb1nMPmS19HC
https://dl.doubtnut.com/l/_IPqWLClMJzfU


Watch Video Solution

34. If +x) then the value of x is ___

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos(40∘ = sin 30∘

30∘

20∘

5∘

50∘

35. Find the values of:a.

Watch Video Solution

cos 150∘

https://dl.doubtnut.com/l/_IPqWLClMJzfU
https://dl.doubtnut.com/l/_jYVfaVETELCY
https://dl.doubtnut.com/l/_8CNqvC5ZuRoI


36. Find value of.

Watch Video Solution

sin2 120∘

37. Find value of 

Watch Video Solution

cos2 180∘

38. Show that (without using table of trigonometric ratios) :(i)

Watch Video Solution

= 1
cos 180

sin 720

39. Show that (without using table of trigonometric ratios) :(ii)

- =0sin2 28∘ cos2 62∘

https://dl.doubtnut.com/l/_9n2mhrwgnBha
https://dl.doubtnut.com/l/_ZdsY1lNvWtMM
https://dl.doubtnut.com/l/_wMKihHFzYaTT
https://dl.doubtnut.com/l/_nkbos0NY3gwI


Watch Video Solution

40. Show that (without using table of trigonometric ratios) :(iii)

Watch Video Solution

sin 63∘ cos 27∘ + cos 63∘ sin 27∘ = 1

41. Show that (without using table of trigonometric ratios) :(iv)

Watch Video Solution

sin2 20∘ + sin2 70∘ = 1

42. Show that (without using table of trigonometric ratios) :(v)

Watch Video Solution

sin 55∘ − cos 35∘ = 0

https://dl.doubtnut.com/l/_nkbos0NY3gwI
https://dl.doubtnut.com/l/_xeK2vkbywGpS
https://dl.doubtnut.com/l/_EAA3A7L3Iz2b
https://dl.doubtnut.com/l/_loSOuM2185Sn
https://dl.doubtnut.com/l/_ZphukJ085QmX


43. Prove that:a.

Watch Video Solution

cos θ sin(90∘ − θ) + sin θ cos(90∘ − θ) = 1

44. Prove that:b.

Watch Video Solution

+ = 2 cos ecθ
cos(90∘ − θ)

1 + sin(90∘ − θ)

1 + sin(90∘ − θ)

cos(90∘ − θ)

45. If A,B,C are the three angles of a triangle,show that:

(i)cos(A+B)+cosC=0

Watch Video Solution

https://dl.doubtnut.com/l/_ZphukJ085QmX
https://dl.doubtnut.com/l/_wO2uWukNhaDm
https://dl.doubtnut.com/l/_2bejz4nL4QS2


46. If A,B,C are the three angles of a triangle,show that:(ii)sin(A+B)-

sinC=0

Watch Video Solution

47. If A,B,C are the three angles of a triangle,show that:(iii)

Watch Video Solution

sin( ) = cos( )
B + C

2

A

2

48. If A,B,C are the three angles of a triangle,show that:(iv)

Watch Video Solution

tan( ) = cot( )
B + C

2

A

2

https://dl.doubtnut.com/l/_GXagQeRnI76h
https://dl.doubtnut.com/l/_0BxyiKL7iTlT
https://dl.doubtnut.com/l/_rU1EhwcH39Wv


49. If ,find value of

x

Watch Video Solution

x sin(90∘ − α)cot(90∘ − α) = cos(90∘ − α)

50. Without taking the help of the table of tribonometric

ratios,show that:(i)

Watch Video Solution

( ) + ( ) = 2
cos 37∘

sin 53∘

sin 41∘

cos 49∘

51. Without taking the help of the table of trigonometric

ratios,show that:(ii)

Watch Video Solution

tan 10∘ tan 15∘ tan 75∘ tan 80∘ = 1

https://dl.doubtnut.com/l/_yAkMDppOSOdR
https://dl.doubtnut.com/l/_hI8EtiTkIjzf
https://dl.doubtnut.com/l/_b8RqwwnO9SwM


52. Without taking the help of the table of trigonometric

ratios,show that:(iii)

Watch Video Solution

sin 140∘ cos 65∘ + cos 50∘ cos 115∘ = 0

53. Without taking the help of the table of tribonometric

ratios,find the value of:(iv)

+2tan15tan45tan75

Watch Video Solution

( )
2

+ ( )
2

tan 20∘

cos ec70∘

cot 20∘

sec 70□

54. Without taking the help of the table of tribonometric

ratios,show that:(v)

Watch Video Solution

sin 20∘ cos 40∘ cos ec50∘ sec 70∘ = 1

https://dl.doubtnut.com/l/_JwA8TJEnaSPB
https://dl.doubtnut.com/l/_n6WYHNgL7M1b
https://dl.doubtnut.com/l/_YQN3wgXGBbPc


Exercise

1. If right-angled at B,AB=24cm,BC=7cm.Determine:

(i)sinA,cosA

Watch Video Solution

△ ABC

2. In right-angled at B,AB=24cm,BC=7cm.Determine:

(ii)sinC,cosC

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_bd0MbMZYlAs3
https://dl.doubtnut.com/l/_APHGWW8mohXT


3. InFig.8.13,find tanP-cot R

Watch Video Solution

https://dl.doubtnut.com/l/_UQ7770o6jGac
https://dl.doubtnut.com/l/_Zb3VZjfyC0Fb


4. If sinA=3/4,calculate cosA and tanA

Watch Video Solution

https://dl.doubtnut.com/l/_Zb3VZjfyC0Fb


5. Given 15 cotA=8,find sin A and sec A.

Watch Video Solution

https://dl.doubtnut.com/l/_F6jCeBvLhhuu


6. Given ,calculate all other trigonometric ratios.


Watch Video Solution

sec θ =
13

12

7. If  are acute such that cosA=cosB,then show that 

W t h Vid S l ti

∠A and ∠B

∠A = ∠B

https://dl.doubtnut.com/l/_vlsgsDR3zIRq
https://dl.doubtnut.com/l/_Rc5cY9nDhEgC


Watch Video Solution

8. If evaluate:(i)

Watch Video Solution

cot θ =
7
8

(1 + sin θ)(1 − sin θ)

(1 + cos θ)(1 − cos θ)

9. If evaluate:(ii)

Watch Video Solution

cot θ =
7
8

cot2 θ

10. If 3 cotA=4,check whether  or

not.

Watch Video Solution

= cos2 A − sin2
A

1 − tan2 A

1 + tan2 A

https://dl.doubtnut.com/l/_Rc5cY9nDhEgC
https://dl.doubtnut.com/l/_u31e0ha2JrZ6
https://dl.doubtnut.com/l/_F3KfzCOA9VEM
https://dl.doubtnut.com/l/_lbG1P7k9xsec


11. In ,right-angled at B if ,find the value of:

(i)sinA cosC+cosA sinC

Watch Video Solution

△ ABC tan A =
1

√3

12. In ,right-angled at B if ,find the value of:

(ii)cosA cosC-sinA sinC

Watch Video Solution

△ ABC tan A =
1

√3

13. In ,right-angled at Q,PR+QR=25cm and

PQ=5cm.Determine the values of sinP,cosP and tanP.

Watch Video Solution

△ PQR

https://dl.doubtnut.com/l/_mPegOiR3wDbK
https://dl.doubtnut.com/l/_cX5qrqzBT7kM
https://dl.doubtnut.com/l/_RZfjpySz8Ske


14. State whether the following are true or false.Justify your

answer.(i)The value of tan A is always less than 1

Watch Video Solution

15. State whether the following are true or false.Justify your

answer.(ii)secA=12/5 for some value of angle A

Watch Video Solution

16. State whether the following are true or false.Justify your

answer.(iii)cos A is the abbreviation used for the cosecant of angle

A.

Watch Video Solution

https://dl.doubtnut.com/l/_D4DkP98wQQLV
https://dl.doubtnut.com/l/_zsXPM59oZmLJ
https://dl.doubtnut.com/l/_Wat1zuw8rRJo
https://dl.doubtnut.com/l/_uNoNtZYMajUT


17. State whether the following are true or false.Justify your

answer.(iv)cot A is the product of cot and A.

Watch Video Solution

18. State whether the following are true or false.Justify your

answer.(v)  for some angle

Watch Video Solution

sin θ =
4
3

θ

19. Evaluate the following:(i)

Watch Video Solution

sin 60∘ cos 30∘ + sin 30∘ cos 60∘

20. Evaluate the following:(ii)

Watch Video Solution

2 tan∘ 45∘ + cos2 30∘ − sin2 60∘

https://dl.doubtnut.com/l/_uNoNtZYMajUT
https://dl.doubtnut.com/l/_BE4wrGsWtIhq
https://dl.doubtnut.com/l/_w35GG33JR5HB
https://dl.doubtnut.com/l/_tGbk6S9hrdu6


21. Evaluate the following:(iii)

Watch Video Solution

cos 45∘

sec 30∘ + cos ec30∘

22. Evaluate the following:(iv)

Watch Video Solution

sin 30∘ + tan 45∘ − cos ec60∘

sec 30∘ + cos 60∘ + cot 45∘

23. Evaluate the following:(v)

Watch Video Solution

5cos 60∘ + 4sec 30∘ − tan2 45∘

sin2 30∘ + cos2 30∘

24. Choose the correct option and justify your choice:(i)

2tan 30∘

1 + tan2 30∘

https://dl.doubtnut.com/l/_tGbk6S9hrdu6
https://dl.doubtnut.com/l/_Q0uJE6exGL05
https://dl.doubtnut.com/l/_eITv1MkXL3wd
https://dl.doubtnut.com/l/_sRG2Ooy0E0VM
https://dl.doubtnut.com/l/_bDW4KJOIifYS


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin 60∘

cos 60∘

tan 60∘

sin 30∘

25. Choose the correct option and justify your choice:(ii)

A. 

B. 1

C. 

D. 0

1 − tan2 45∘

1 + tan2 45∘

tan 90∘

sin 45∘

https://dl.doubtnut.com/l/_bDW4KJOIifYS
https://dl.doubtnut.com/l/_Go1Cjh10GjrE


Answer:

Watch Video Solution

26. Choose the correct option and justify your choice:(iii)sin

2A=2sin A is true when A=

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0∘

30∘

45∘

60∘

https://dl.doubtnut.com/l/_Go1Cjh10GjrE
https://dl.doubtnut.com/l/_vJAqyZThVgm8


27. Choose the correct option and justify your choice:(iv)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2tan 30∘

1 − tan2 30∘

cos 60∘

sin 60∘

tan 60∘

sin 30∘

28. If  and :find A and B.

Watch Video Solution

tan(A + B) = √3 tan(A − B) =
1

√3

https://dl.doubtnut.com/l/_s3sudVHAmtau
https://dl.doubtnut.com/l/_Sbpp0agDceGP


29. State whether the following are true or false.Justify your

answer:(i)sin(A+B)=sin A+sin B.

Watch Video Solution

30. State whether the following are true or false.Justify your

answer:(ii)The value of  increases as increases.

Watch Video Solution

sin θ θ

31. State whether the following are true or false. Justify your

answer:(iii)The value of  increases as  increases.

Watch Video Solution

cos θ θ

https://dl.doubtnut.com/l/_49r6xLfW6xCq
https://dl.doubtnut.com/l/_pzSAb53gmES1
https://dl.doubtnut.com/l/_LsWOHZFrc34O


32. State whether the following are true or false.Justify your

answer:(iv) for all values of 

Watch Video Solution

sin θ = cos θ θ

33. State whether the following are true or false.Justify your

answer:(v)cot A is not defined for 

Watch Video Solution

A = 0∘

34. Evaluate:(i)

Watch Video Solution

sin 18∘

cos 72∘

35. Evaluate:(ii)

h id l i

tan 26∘

cot 64∘

https://dl.doubtnut.com/l/_6qVmjt8LmZAD
https://dl.doubtnut.com/l/_YCatGLHFQ6eR
https://dl.doubtnut.com/l/_4HnzyYm8dCYA
https://dl.doubtnut.com/l/_JrwHutCvIadM


Watch Video Solution

36. Evaluate:(iii)

Watch Video Solution

cos 48∘ − sin 42∘

37. Evaluate:(iv)

Watch Video Solution

cos ec31∘ − sec 59∘

38. Show that:(i)

Watch Video Solution

tan 48∘ tan 23∘ tan 42∘ tan 67∘ = 1

39. Show that(ii)

Watch Video Solution

cos 38∘ cos 52∘ − sin 38∘ sin 52∘ = 0

https://dl.doubtnut.com/l/_JrwHutCvIadM
https://dl.doubtnut.com/l/_A7SoWfLib5cb
https://dl.doubtnut.com/l/_NGvK12rQnEbP
https://dl.doubtnut.com/l/_8OPbKeTZhgdB
https://dl.doubtnut.com/l/_aXDoxSJ2X6fZ


40. If where 2A is an acute angle,find the

value of A.

Watch Video Solution

tan 2A = cot(A − 18∘ )

41. If tanA=cotB,prove that 

Watch Video Solution

A + B = 90∘

42. If ,where 4A is an acute angle,find

the value of A.

Watch Video Solution

sec 4A = cos ec(A − 20∘ )

https://dl.doubtnut.com/l/_aXDoxSJ2X6fZ
https://dl.doubtnut.com/l/_CUELMbvX7H6Y
https://dl.doubtnut.com/l/_x5oG88NSUNiQ
https://dl.doubtnut.com/l/_M0RQkAz9Tmxg


43. If A,B and C are interior angle of a triangle ABC,then show that

Watch Video Solution

= cos( )
sin(B + C)

2

A

2

44. Express in terms of trigonometric ratios of

angles between 

Watch Video Solution

sin 67∘ + cos 75∘

0∘ and 45∘

45. Express the triangle ratio sinA,secA and tanA in terms of cotA.

Watch Video Solution

https://dl.doubtnut.com/l/_eCqbylazCWub
https://dl.doubtnut.com/l/_81uCcsKzRrQ6
https://dl.doubtnut.com/l/_Jzi0Af6wkCMp


46. Write all the other trigonometric ratios of  in terms of sec

A.

Watch Video Solution

∠A

47. Evaluate :(i)

Watch Video Solution

sin2 63∘ + sin2 27∘

cos2 17∘ + cos2 73∘

48. Evaluate :(ii)

Watch Video Solution

sin 25∘ cos 65∘ + cos 25∘ sin 65∘

49. Choose the correct option.Justify your choice:(i)


9 sec2 A − 9 tan2 A

https://dl.doubtnut.com/l/_t8iq91wpgb4k
https://dl.doubtnut.com/l/_JLf55hAtCgpa
https://dl.doubtnut.com/l/_sqtLU2zKVaA6
https://dl.doubtnut.com/l/_APChjgu4xtcO


a)1
b)9
c)8
d)0

A. 1

B. 9

C. 8

D. 0

Answer:

Watch Video Solution

50. Choose the correct option.Justify your choice:(ii)

A. 0

B. 1

C. 2

(1 + tan θ + sec θ)(1 + cot θ − cos ecθ) =

https://dl.doubtnut.com/l/_APChjgu4xtcO
https://dl.doubtnut.com/l/_UO4xdgDEbOUx


D. -1

Answer:

Watch Video Solution

51. Choose the correct option.Justify your choice:(iii)

=


a)secA
b)sinA
c)cosecA
d)cosA

A. secA

B. sinA

C. cosecA

D. cosA

Answer:

Watch Video Solution

(sec A + tan A)(1 − sin A)

https://dl.doubtnut.com/l/_UO4xdgDEbOUx
https://dl.doubtnut.com/l/_6rO5gguBvL9R


52. Choose the correct option.Justify your choice:(iv) =

A. 

B. -1

C. 

D. 

Answer:

Watch Video Solution

1 + tan2 A

1 + cot2 A

sec2 A(B)

cot2 A

tan2 A

53. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(i)

Watch Video Solution

= (cos ecθ − cot θ)21 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_6rO5gguBvL9R
https://dl.doubtnut.com/l/_9LVFwLSF08xq
https://dl.doubtnut.com/l/_czE6yqd1sSVF


54. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(ii)

Watch Video Solution

+ = 2 sec A
1 + sin A

cos A

cos A

1 + sin A

55. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(iii)

Watch Video Solution

+ = sec θ cos ecθ + 1
tan θ

1 − cot θ

cot θ

1 − tan θ

56. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(iv)

https://dl.doubtnut.com/l/_czE6yqd1sSVF
https://dl.doubtnut.com/l/_rF8v4kVsLy9A
https://dl.doubtnut.com/l/_5NLgE6J5xCja
https://dl.doubtnut.com/l/_IsTFzKF1MOtj


Watch Video Solution

=
1 + sec A

sec A

sin2 A

1 − cos A

57. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(v)

 using the identity 

Watch Video Solution

= cos ecA + cot A
cos A − sin A + 1

cos A + sin A − 1

cos ec2A = 1 + cot2 A

58. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(vi)

Watch Video Solution

√ = sec A + tan A
1 + sin A

1 − sin A

https://dl.doubtnut.com/l/_IsTFzKF1MOtj
https://dl.doubtnut.com/l/_QdXWrgU7lQGP
https://dl.doubtnut.com/l/_QtWUXpsHz1Yv
https://dl.doubtnut.com/l/_3NZXBIE4FQYA


59. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(vii)

Watch Video Solution

= tan θ
sin θ − 2 sin3

θ

2 cos3 θ − cos θ

60. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(viii)

Watch Video Solution

(sin A + cos ecA)
2

+ (cos A + sec A)
2

= 7 + tan2 + cot2 A

61. Prove the following identities,where the angles involves are

acute angles for which the expressions are defined:(ix)

Watch Video Solution

(cos ecA − sin A)(sec A − cos A) =
1

tan A + cot A

https://dl.doubtnut.com/l/_3NZXBIE4FQYA
https://dl.doubtnut.com/l/_thysZ4y1RSRE
https://dl.doubtnut.com/l/_dfvVo5zD9teG


62. Prove the following identities, where the angles involves are

acute angles for which the expressions are defined:(x)

Watch Video Solution

( )
2

= ( )
2

= tan4 A
1 + tan2 A

1 + cot2 A

1 − tan2 A

1 − cot2 A

63. The maximum value of  is

A. 0

B. -1

C. 1

D. 

Answer:

Watch Video Solution

sin θ, 0 ≤ θ ≤ 90∘

1

2

https://dl.doubtnut.com/l/_dfvVo5zD9teG
https://dl.doubtnut.com/l/_1R4BejMUCmuv
https://dl.doubtnut.com/l/_WcXpnU1oxJVI


Watch Video Solution

64. The maximum value of  is

A. 0

B. -1

C. 1

D. 

Answer:

Watch Video Solution

cos θ, 0 ≤ θ ≤ 90∘

1

2

65. The value of  is

A. 

B. 

sin(90∘ − θ)

sin 90∘

cos θ

https://dl.doubtnut.com/l/_WcXpnU1oxJVI
https://dl.doubtnut.com/l/_0ZKMx1rd74a7
https://dl.doubtnut.com/l/_4VdQRSLAu4Pp


C. 

D. 1

Answer:

Watch Video Solution

cos 90∘

66. The value of  is

A. 0

B. 1

C. -1

D. 

Answer:

Watch Video Solution

cos 1∘ cos 2∘ cos 3∘ .... cos 180∘

1

√2

https://dl.doubtnut.com/l/_4VdQRSLAu4Pp
https://dl.doubtnut.com/l/_Wm2FWmhZeAS1


67. The value of 

A. 1

B. -1

C. 0

D. 

Answer:

Watch Video Solution

sin 0∘ sin 1∘ sin 2∘ sin 3∘ .... . sin 90∘

1

√2

68.  is

A. 0

B. 1

C. 

tan 10∘ tan 15∘ tan 75∘ tan 80∘

1

16

https://dl.doubtnut.com/l/_viA1uWLxwqAl
https://dl.doubtnut.com/l/_A1g5iR83JCcD


D. None of these

Answer:

Watch Video Solution

69. The value of 

A. 0

B. 1

C. 

D. None of these

Answer:

Watch Video Solution

tan 1∘ tan 2∘ tan 3∘ .... tan 89∘

sin2 θ

https://dl.doubtnut.com/l/_A1g5iR83JCcD
https://dl.doubtnut.com/l/_P59i1XPkCwyi


70. The value of  is

A. 0

B. 1

C. 

D. -1

Answer:

Watch Video Solution

cos 1∘ cos 2∘ cos 3∘ .... cos 90∘

sin2 θ

71. If then the value of x will be

a)1
b) 
c) 
d)

A. 1

B. 

xtan 45∘ sin 30∘ = cos 30∘ tan 30∘

1

2
√3

1

√2

1
2

https://dl.doubtnut.com/l/_HFeSOzyQ56uS
https://dl.doubtnut.com/l/_DEUZCLchF6Kf


C. 

D. 

Answer:

Watch Video Solution

√3

1

√2

72. The maximum value of  is


a)1
b)2
c)3
d)4

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

cos θ

https://dl.doubtnut.com/l/_DEUZCLchF6Kf
https://dl.doubtnut.com/l/_tPK21YWuqqEV


Watch Video Solution

73. The maximum value of  is

A. 0

B. 1

C. 

D. 2

Answer:

Watch Video Solution

sin θ

1

2

74. If then the value of  is

A. ab

B. 

x = a cos θ and y = b sin θ b2x2 + a2y2

a2b2

https://dl.doubtnut.com/l/_tPK21YWuqqEV
https://dl.doubtnut.com/l/_3zs2xXZXQs4c
https://dl.doubtnut.com/l/_tJx3NtMQfL8z


C. 

D. 

Answer:

Watch Video Solution

a2 + b2

a4b4

75. If A,B and C are interior angle of a ,then the value of 

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

△ ABC

cos( )
B + C

2

sin( )
A

2

−sin( )
A

2

cos( )
A

2

−cos( )
A

2

https://dl.doubtnut.com/l/_tJx3NtMQfL8z
https://dl.doubtnut.com/l/_HzA1lW04XhuO


Watch Video Solution

76. If then the value of will be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sec θ + tan θ = x sec θ

x2 + 1
2x

x2 + 1
x

x2 − 1
2x

x2 − 1
x

77. The value of  is

A. 

B. 

sec4 A − sec2 A

tan2 A − tan4 A

tan4 A + tan2 A

https://dl.doubtnut.com/l/_HzA1lW04XhuO
https://dl.doubtnut.com/l/_4NgY28NaxRTD
https://dl.doubtnut.com/l/_xHATw4VakN0o


C. 

D. 

Answer:

Watch Video Solution

tan4 A + tan A
1
2

tan2 A + tan4 A

78. If , find the value of 5(x^2 - 1/x^2)

A. 5

B. 

C. 0

D. -1

Answer:

Watch Video Solution

5x = sec θ and = tan θ
5

x

1

5

https://dl.doubtnut.com/l/_xHATw4VakN0o
https://dl.doubtnut.com/l/_v5JiVRRiEbNd


79. If then the value of 

will be

A. 2

B. 

C. 

D. 1

Answer:

Watch Video Solution

cos ecθ = 2x and cot θ =
2

x

2(x2 − )
1

x2

−
1

2

1

2

80. The value of  is

A. 0

B. 1

sin 40∘ − cos 50∘

https://dl.doubtnut.com/l/_3CxqvwHubNYR
https://dl.doubtnut.com/l/_5dY4l2aFhJDH


C. 

D. 

Answer:

Watch Video Solution

sin 10∘

cos 10∘

81. The value of  is

A. 0

B. 1

C. 

D. 

Answer:

Watch Video Solution

cos2 37∘ − sin2 53∘

1

3

2

√3

https://dl.doubtnut.com/l/_5dY4l2aFhJDH
https://dl.doubtnut.com/l/_ZbATDWbO5L1g


82. The value of  is

A. 0

B. 1

C. 

D. None of these

Answer:

Watch Video Solution

sec2 10∘ − cot2 80∘

3

2

83. The value of 

A. 0

B. 1

C. 

sin2 29∘ + sin2 61∘

2 sin2 292

https://dl.doubtnut.com/l/_37b2uYfU9yFb
https://dl.doubtnut.com/l/_uXL3eOE0fGa8


D. 

Answer:

Watch Video Solution

2 cos2 612

84.  is equal to

A. 0

B. 1

C. 9

D. -1

Answer:

Watch Video Solution

9 sec2 A − 9 tan2 A

https://dl.doubtnut.com/l/_uXL3eOE0fGa8
https://dl.doubtnut.com/l/_Qt3LPX6VA9Pv


85. The value of is

A. 1

B. 

C. 

D. 

Answer:

Watch Video Solution

tan 30∘

cot 60∘

√3

1

√2

1

√3

86. The value of is

A. 0

B. 1

C. 

cos(40∘ + θ) − sin(50∘ − θ)

sin2 θ

https://dl.doubtnut.com/l/_J5bJJ1erWyUE
https://dl.doubtnut.com/l/_moYQlJW68yGC


D. None of these

Answer:

Watch Video Solution

87. The value of  is

A. 0

B. -1

C. 1

D. 2

Answer:

Watch Video Solution

sin θ cos(90∘ − θ) + cos θ sin(90∘ − θ)

https://dl.doubtnut.com/l/_moYQlJW68yGC
https://dl.doubtnut.com/l/_TY0IAV5vB1An


88. The value of  is

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

sec 70∘ sin 20∘ + cos 20∘ cos ec70∘

89. If A and B are acute angle such that `SinA=CosB then the value

of (A+B) is

A. 

B. 

45∘

60∘

https://dl.doubtnut.com/l/_p4iPIS9JC0wT
https://dl.doubtnut.com/l/_FMbGTgfBKS9e


C. 

D. 

Answer:

Watch Video Solution

90∘

180∘

90. If then the value of  is

A. 0

B. 1

C. 

D. 

Answer:

Watch Video Solution

cos 9α = sin α and 9α < 90∘ tan 5α

√3

1

√3

https://dl.doubtnut.com/l/_FMbGTgfBKS9e
https://dl.doubtnut.com/l/_gGEgGipqLUfZ


91. If is acute then the value  will be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin(θ + 34∘ ) = cos θ and θ θ

42∘

28∘

56∘

66∘

92. If where 2A is an acute angle

then`angleA=?.

A. 

B. 

tan 2A = cot(A − 21∘ )

27∘

35∘

https://dl.doubtnut.com/l/_8S2ZOuTpzxbG
https://dl.doubtnut.com/l/_DYfEiOlIGMnP


C. 

D. 

Answer:

Watch Video Solution

37∘

24∘

93. Say true (T) or False(F):(i)If then 

Watch Video Solution

cos θ = x −1 ≤ x ≤ 1

94. Say true (T) or False(F):(ii)The value of always lies between

1 and -1

Watch Video Solution

tan θ

https://dl.doubtnut.com/l/_DYfEiOlIGMnP
https://dl.doubtnut.com/l/_pUixwggqFlPC
https://dl.doubtnut.com/l/_FSWbwVNQzrgs


95. Say true (T) or False(F):(iii)The value of  is not defined for 

Watch Video Solution

cot θ

θ = 90∘

https://dl.doubtnut.com/l/_vTxkCNmew12Y

